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QUESTION 1

Which of the following statements best characterizes the relationship between a requirements engineer and a
stakeholder in the role of a tester? (1 Point)

A. The requirements engineer delivers input for the work of the stakeholder.

B. The output from the requirements engineer is managed by the stakeholder.

C. The stakeholder delivers input for the requirements engineer.

D. The stakeholder monitors the work of the requirements engineer.

E. The work of the requirements engineer is not related to the role of the stakeholder.

Correct Answer: A

QUESTION 2

You model invoices and invoice items with a UML class diagram. The total amount of an invoice is calculated by
summing up all individual invoice items. This means that an invoice showing 5 article prices contains 5 invoice items.
What model element most accurately describes the relationship between invoice and invoice items? (1 Point)

A. Composition

B. Aggregation

C. Generalisation

D. Association

Correct Answer: A

QUESTION 3

Listed below you will find four reasons why different views of individual components of the requirements are used
instead of a single view displaying all the requirements and attributes. Which of the following reasons are true and which
are false? (2 Points)

True | False

A B Stakeholders only receive the part of the documentation relevant to them.

C D Recuirements which belong togsther are grouped in order to facilitate the review
process.

E F In crder to hide requirements from certain stakeholders who shall not have read
authorization.

G H In crder to guarantee that more than one person can work at the same time on a
specification.
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A.A C EH

Correct Answer: A

QUESTION 4
Which sentence best characterises the term "stakeholder"? (1 Point)

A. The external actors interacting with a system and the technical interfaces to surrounding systems are designated as
stakeholders.

B. Stakeholders are persons and organisations affected by the development and the use of the system or of the
product.

C. Stakeholders are special interest representatives who are responsible for the approval of the first project phase.
D. A stakeholder is responsible for the administration of the software development environment.

Correct Answer: B

QUESTION 5

Requirements must be checked in terms of content, documentation and agreement. Indicate with regard to this whether
each statement is true or false. (2 Points)

True | False

A B Inspection is a checking technique that is very informal but which is therefore
also very efficient.

G D Field observationis the most frequently used checking technique.

E F Nomore than one tester should sver be used for checking, as this may invite
conflicts that hinder the project sxecution.

G H Subject matter conflicts must be resolved before checking, since these conflicts
are not recognized in checking.

A.B,D,F, H

Correct Answer: A

IREB_CPRE_FL VCE IREB_CPRE_FL Study IREB_CPRE_FL
Dumps Guide Braindumps

IREB_CPRE_FL VCE Dumps | IREB_CPRE_FL Study Guide | IREB_CPRE_FL Braindumps 3/3



https://www.pass4itsure.com/ireb_cpre_fl.html
https://www.pass4itsure.com/ireb_cpre_fl.html
https://www.pass4itsure.com/ireb_cpre_fl.html
https://www.pass4itsure.com/ireb_cpre_fl.html
https://www.pass4itsure.com/ireb_cpre_fl.html
https://www.pass4itsure.com/ireb_cpre_fl.html
http://www.tcpdf.org
https://www.pass4itsure.com/ireb_cpre_fl.html
https://www.pass4itsure.com/ireb_cpre_fl.html
https://www.pass4itsure.com/ireb_cpre_fl.html

